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Section — A (Short Answer type questions)
Answer All Questions
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What is the importance of dot/(.) and dot dot/(..) directories in the
file system?

Explain about I/O redirection operations in shell?

How fentl() system call is used in file system?

Compare file locking with record locking?

List any four signal functions?

Explain how to terminate process normally or abnormally?
Write down the advantages and disadvantages of FIFOs?
Extend with an example describe about pipe () system call?
How stream sockets are different form data sockets?
Summarize the race conditions with shared memory?

Section B (Essay Questions)

Answer all questions, each question carries equal marks.
11. A) With the help of syntax and example explain the various process
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utility commands.

OR
Develop a shell script to count the specified number of lines in a text
file without using wc command?

Make use of system calls stat( ), fstat( ) and Istat( ) in a shell script
with any one example program.

OR
Examine and elaborate various functions used in listing the content
of a directory with syntax and sample code?

Distinguish between fork() and exec() system calls with example
code?

OR
Inspect the mechanism for handling a signal with example code?

Construct a program and explain how to transfer a large amount of
data between two processes using message queues?

OR
Dissect how process synchronization is achieved using semaphores
with examples?

Identify the system functions associated for creating and destroying
a shared memory with examples?

OR
Distinguish the socket system calls for connection oriented and
connectionless protocol?
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